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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2012

Part - III ‘ |
PHILOSOPHY — HONOURS
Paper - VIII
Duration : 4 Hours . ' Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

@ @ Gl Rt (U eiefem Saa fm |

Answer questions from any one Group only.
Rt -=
GROUP - A
( VEDANTASARA )
> A2 2P IR € Sisi (I #AToio 2ivsi B fum | ‘
@ G ol siosi S fi ¢ . ‘ 8 X & =0

) T BICF A0 2 THAPRIR AT 5 2
%) 2fraeRm fe 2

M AR 9 I A ? eI 2

q) ‘wiesy’ Feire [F @R 2

€) YR’ IS & @R 2

5)  Fer e afifes o 3 aw o

®) g geice & @R e

) ‘ﬂﬁ‘ﬁﬂ'ﬁ%’-\ﬂﬁ e ofefes e e |

(TG ATEA A CEIIF SRPAICA IO FioA Tl @ ©5g o7l fRorea i et | v 4




81

¢\
: 100

Y

91

k|

o |

20 |
=0

&
b+ b

117 PHIA (HN)-08
F) AT CANTH (QVTEAR 2T (IR SRy S qefefws’ wrel adfa stave ¢

Q) wEE e 7 ww B R e e swe 2 R T

SPEHISIA FICE A 2 PRI [Hfon srawcaa Seoife ¢ 23l FArsts) Stena s | 8 + 53
F) AR & 2

R) AR e S 2R e Fage saw 2

o0) ARIFA FII g0e S, WY agfe fon fon »iora arazr fFeie e 23, ©f @
S I T | v i ais

) e aRd o Somm FReR 2Nl Wod F |
¥ Faraa Ffrermay e Sevin 23 ©f (QWIeIR 28 S A1 I | b+ b
F)  GRErEl, TR, SieferFaa Fhel Wi FE |
%) m\mmmm‘wwﬁrwwmn@mwm@ﬁﬁw”WWx S

o~

Heeas ¢ Afideme Tafea e aan s | 92 o Fifewe e swale s a@a |

Y+ S0
SRACEE 7% F 7 (@I SPIE S90S O@% oI S s | v+ Y0
@) 4g e e 9 el o S Fhel Ui |

q) 9% W WE FHARET YO € SN P99 TS WHA{G| I | v

( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.

Answer any four of the following :

a) What is Upasana ? What is the necessity of Upasana ?
b) What is Indriyatmavada ?

c) What is Apancikrta-bhuta ? What are they ?

d) What is meant by Tatparya ?
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€) What do you understand by ‘Sadhanacatustaya’ ? F\
f) What is ‘Nitya’ and ‘Naimittika karma’ ? '

What do you understand by Nididhyasana ?

h) Distinguish between Parinama and Vivarta.
2. Explain fully the Svarupalaksana and Tatasthalaksana of Brahman following the =
o he o i
5 ) b :
% Mangalacarana of Vedantasara. 8+8 |
' ; D u,q\ a) Why does Sadananda Yogindra describe ajnana as ‘Yatkincit’ in Vedantasara ?

N\ : | ; ’
\ =\ Explain its significance.

If Ajnana is regarded as ‘Yatkincit' . then how can it be established by him ?

Ay 6 + 10
247" What is Suksmasarira ? Discuss briefly the origin and functions of the different
components of Suk§maéarira. ) 4+ 12
”»
B ® What is Pancikarana ?
b) How is the doubt regarding the validity ( Pramanya ) of Pancikarana removed
by the author ? ' k
c) If Pa?tcf_kara{ta is accepted, then how can the differences in linguistic usages =
like 'akasa’, ‘vayu’ be justified ? Explain after Vedantasara. 8+4+4
6. a) Distmguish between Nimitta karana and Upadana karana
b) Explain after Vedantasara how Isvara can be regarded as both Nimitta and
Upadana karana of Jagat. 8+8

v 2 a) Explain the nature of Jahatlaksana, Ajahatlaksana and Bhagalaksana.

b) Which kind of Lak§ar_15 has been adopted by the author to denote the
‘Akhandartha’ of the statement ‘Tattvamasi’ ? Discuss [ully. 8 +8

8. Explain tl'.xe distinction between Savikalpaka Samadhi and Nirvikalpaka Samadhi. In
this context, discuss the different components of Nirvikalpaka Samadhi. 6 + 10

9. What are the characteristic features of a Jivanmukta ? Discuss fully the state of

Jivanmukta after Vedantasara. 6+ 10 |

LQ:- 2 a) Explain the nature of Adhyaropa thh reference to the meaning of Vastu and
Avastu.

b) In this context, discuss the views of Prabhakara and Bhatta Mimamsakas

regarding the nature of self. 8 +8
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( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.
Answer any four questions : 4 x5=20
a) How is the ‘philosopher’ defined in the ‘Republic’ ?
s b) What is the difference between Guardians and Auxiliaries in the '‘Republic’ ?
v \D un %
: N\
s ANEN 8 Explain the-allegory of the line’ according to the ‘Republic’.
/ ot ) A :
| : EAN | What does Plato understand by the ‘Idea of Good' ?
: // e) Write on ‘noble falsehood’ as understood by Plato.
N f) Briefly write Plato’s Communism.
g Discuss Plato’s view on the right size of the state.
h) Why does Plato not propose separate education schéme for women ?
2 How does Plato classify the citizen of his ideal republic ? Explain the place and'?
function of the philosopher-king in the republic. 6+ 100
3: “Justice is giving every man his duec.” — How does Plato criticize this view ? 16
4. Discuss after Plato. the analogy between the operation of society as a whole and the
soul of any individual human being. 161
5: Discuss the components of effective education and the foundations of morality as =
determined by Plato in the ‘Republic’. 16
6. How does Socrates refute the definition of justice given by Cephalus ? Discuss in this |
connection, why Plato holds that it is better to be just than unjust. 6+ 100
Py How does community start and grow ? What is the cause of war ? Discuss in this 3
connection the difference between war and civil strife. 5+5+68
8. Explain the problems regarding the nature of knowledge, as discussed in Plato’s
famous ‘allegory of caves'. 16
9. Discuss Plato’s method of training for the guardians. Explain the importance of music
in Plato’s scheme of education. 10 +6 }
10.  Expound properly the three parts of the human soul as stated by Plato. 16
11. Discuss in detail Plato’s views on the nature of Justice. 16

i
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( ENGLISH VERSION )

Question No. 1 is compulsory and answer any five from the rest.

1 13 Answer any four questions : 4x5=20

a) Distinguish after Russell. between sense-data and sensation.

b b) How does error differ from probable opinion ?

c) What are the entities, according to Russell, that our a priori knowledge is
concerned with ?

nor be disproved by an appeal to experience ?

e) Show the difference between mathematical knowledge and empirical
generalisation after Russell. ;

i

i

|

t ' d) How does Russell show that the principle of induction can neither be proved
B

f) Mention the conditions which must be fulfilled by a theory regarding the
i : nature of truth.

! g Give an overview of the scope of intuitive knowledge following Russell.
{

Briefly explain Russell's view regarding the nature of Universals.
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admission of physical objects in addition to ‘'sense-data’ ? 4+ 12

Distinguish after Russell, between knowledge by acquaintance and knowledge by

description. What kinds of things, according to him, are known through knowledge

N
by acquaintance ? 8+8
F Y
i 4. How does Russell distinguish between definite description and indefinite
e description ? Discuss with examples. What is the main importance of descriptive
knowledge according to Russell ? Discuss. 10 + 6
iy State and explain the fundamental laws of thought. What is the importance of these
fundamental principles ? Discuss after Russell. 8+8
6. Discuss how Russell establishes the correspondence theory of truth as the only
= 20 :
theory which can explain the nature of truth. 16
T How does Russell explain and criticise Berkeley's Idealism ? Discuss. 16
g 8. Explain Russell's view about the criterion of truth. What exactly is meant by
‘Coherence’ ? 12 + 4
oved
9. Explain Descartes’ method of Systematic doubt following Russell. 16
rical
10.  Critically explain Russell's arguments for rejecting the Hegelian theory of Absolute
the Reality. 16

11. How does Russell set .a limit to philosophical knowledge ? State and explain the

characteristic of Philosophy which makes it a distinct study from Science. 8+8
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( ENGLISH VERSION )

Q. No. 1 is compulsory. Answer any five questions from the rest taking at least two

from each Section.

Answer any four questions :

a)
b)
c)

d)

a)

b)

c)

a)

b)

Why is I.P. called a proof by reductio ad absurdum ?

4 x5 =20

Define € and ¢ . Distinguish between ¢ and c. Answer citing examples.

Prove that there is one and only one empty set.

Explain the Law of Existential Distribution ( L.E.D.) with an example.
Distinguish between Terms of thought and Terms verbal.

How is logical division allied to classification ?

Distinguish between a name and a term.

Distinguish between genus and differentia.

SECTION -1
Explain the method of Conditional Proof with example.
Construct an indirect proof of validity for the following arguments :
i) tPo Q). IRO>S]
i) T21PVR) L2 Tt O NS)
Give conditional proof of validity of the following arguments :
i) Jo(K>~N),( M.N)oN,O>(MN)/ . Jo>(K>~O0),
ii) (AVB)SIICVD)SE]/ o ASIICD)SE]

Show that how the truth-tree method can be used to test consistency.

4 +4

4

Show whether the first Proposition really do imply the second one by using

truth-tree method :
i) (A->B)->C
if) -C — A.

4
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Use truth-tree method to verify that the following pairs are logically

equivalent : : 4

Ao B (A-B)&(-A—- B)

Test the following inference for validity by using truth-tree method : - 4

We shall swim even if it rains. Therefore we shall swim.
Explain with illustrations why * - 3’ is not distributive over alternation. 4

Test the validity of the following by the method of existential conditional.

i) No Indian crows are white ; All white crows are Indian. Therefore no
crows are white. 4
ii) EIO in 1st figure. 4

Use the method of existential conditional to test consistency of the following : 4

Some who take Logic and Latin take neither Physics nor Greek, but all who |

take either Latin or Chemistry take both Logic and Greek.

Write short notes on : 3+3)
i) Difference ( ~ ) of two sets “A" and ‘B’
iij =~ Union ( U ) of two sets "A’ and ‘B’
Let A =1, 2, 3]. Find all the subsets of A. 4
Is the relation of inclusion reflexive or not ? : 2
Give an example of sets A, B, C, D and E satisfying the conditions : 4
ACB
Be C
Ce D

D c F.

7.

8.

1o0.

..

L
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Translate the following sentences into set theoretic notation : - 4
i) Men are numerous.

ii) Apples, oranges and mangoes are sweet.

iii) Some children who drink milk, do not drink either tea or coffee.

iv) Nothing is both safe and exciting. .

Explainif Ac A , then A= A

Find the values of the following : 4
i) (AP AdE~A il fa LAY I=]A )
1ii) A8 bB il A ) WMo AAdREA LA TA L

Determine which of the following statements are true for all sets A, Band C: 4
If Ac B and Be C. then Ae C

If AeB and-Be €, then A¢ €.

SECTION - II

What is a term ? Distinguish between term and word. Explain and illustrate univocal.

equivocal and analogous term. 2+7+7

Explain with illustration too-narrow definition, too-wide definition and circular

definition. Evaluate the following definition : 12 + 4

Lion is the king of beasts.

Explain after Joseph the antithesis between accident and all the other heads of

predicables. 16

What is predicable ? What, according to Arristotle, are its different types ? Explain

each with illustrations. 4 + 12

a)

b)

“A definition must be per genus et differentiam.” — Explain.

What fallacies result if this is violated ? Give examples. 4 +4

"A definition must not directly or indirectly. define the subject by itself.”

Explain.

Explain with illustration the fallacy that occurs if this is violated. 4+ 4
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( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.

R Answer any four of the following : ; 4 x5 =20
a) How is overt racism different from covert racism ?
Xt =0 b) Distinguish active euthanasia from passive euthanasia.
c) Bring out the nature of human rights.
d) Mention two arguments in favour of suicide.
e) Discuss liberal feminism in brief.
f) What are the fundamental causes of social discrimination ?
g) Mention two arguments in favour of capital punishment.
h) What are the differences between absolute poverty and relative poverty ?
i) Is war morally justifiable at all ?
j) Why should we protect nature ?
2. What is feminism ? Discuss radical feminism in'this context. 6 + 10
3. Discuss critically the arguments against suicide. 16
Y+ 50 W4, Analyse the concept of punishment. Discuss and evaluate the retributive theory of
N,A punishment. _ 4+ 12
8+ 53 4% What is environment ? Elucidate the nature of environmental ethics. 4+ 12
8+ 53 46 ‘Not helping the famine-affected people is morally wrong.” — Explain this view of Peter
R Singer. v 16
s sl 7. What is voluntary euthanasia ? Is volutary euthanasia morally justified ? 4+ 12
8. Is killing a human a distinct type of action from killing a non-human animal ? In this
e context, explain whether killing a non-human animal is morally wrong. 4 + 12
T 8. What is racial discrimination ? Discuss the arguments presented by Peter Singer
P ! against racial discrimination. 4 + 12
8+ 30 What is ecology ? Distinguish between shallow ecology and deep ecology. 4 + 12
8+ 3911,  What are the ends and means of a war ? Do we need any special set of moral
RHIRIEES standards during war ? Can we justify by any means the killing of civilians in war ?
b+Y+ 8

6+6+4
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( ENGLISH VERSION )

Answer Question No. 1 and any five from the rest.

Answer any four of the following : 4 x5 =20
a) What, according to Marx. is Historical Materialism ?
b) Why are the mode of production and relations of production regarded as the

base of society ?

c) What is the relation between capital and labour ? Discuss.
d) What is meant by ‘primitive communism’ ?
e) What is ‘reactionary socialism’ ?

What is ‘petty boutgeois socialism’ ?
g What is the difference between manufacture and machinofacture ?
h) What does Marx actually mean by ‘dictatorship of the proletariat ?
Discuss the historical background of writing the Communist Manifesto. 16
What is socialism ? How does it differ from communism ? 6 + 10

What does Marx mean by Feudalistic Socialism ? How does he criticize this doctrine ?
6 + 10
Discuss after Marx and Engels the process of origin and development of the

proletariat class. 6 + 10
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6. “ ... the abolition of this present system of production must bring with it the abolitior
of the community of women springing from that system, i.e. of prostitution botl
public and private.” — Discuss in the light of this statement the actual position o
women in bourgeois society. What is the role of communists in the liberation o

women 7. “ 8 +¢

i “The communists have no interest separate and apart from those of the proletariat as

a whole.” — Explain. : If

8. “Proletariats have nothing to lose but their chains.” — Bring out the implication of th Dur:
statement. |
9. What is class ? Bring out the significance of class as the driving force of history.
6 + If

10. Discuss, after Marx, the ideal relation of the communists with other oppositio

parties. : = 1f

11. “The bourgeois have been digging their own graves.” Explain the significance of thi

statement of Marx. | 08



